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Unit 3 Test Study Guid Name: \ |
(Parent Functions & Transformationg) | Date: — Block:
| Convert each equation to vertex form. Then state the vertex. '

16. f(x)=x*-16x+64 17. f(x)=x*+2x-8
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Graph each function. State the domain and range.
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25. f (x)=-§5-x+2

Parent Function: me ar-

D: iﬂ)\« H iﬁﬂ\

Number of roofs: _l__
End Behavior: As x>, f(X)= ..."_9.0._
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As x> =0, [(X) = ——

Increasing Interval: /A

Decreasing Interval: (" % oo")

26, f(x)=-x*+8x-14
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Parent Function: | QUMYM\ C
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Number of rools: _~__

End Behavior: As s, [+ =%

As x= -, f(x)*_—'oo
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Increasing Inferval:

Decreasing Interval:

\77. f(x)=x-4

Parent Function: L‘\ Ny
D: g\’?\?l HLH $lﬁz i

Number of roofs: |

End Behavior: As x»w, S(¥) = &

As x> ~0, [(X)> =

Increasing Infervak (-, 00)

Decreasing Inferval: NIA

28. f(x)= —-1i(x+1)2

Parent Function: ! 32& lﬂa v @l ] Q
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Number of roots: |
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As x— o, f(X)~ s
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End Behavior: As x—» o, f(X)=>

Increasing Intervak (-0, - ‘3

Necraating Interval: (."’ i ab)




